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select last name, salary, department _id

from employees

where salary IN (select min (salary)
from employees

group by department_id);
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select department id, min(salary)
from employees
group by department_id
having min(salary) > (select min(salary)
from employees
where department_id = 50) ;



:r Fp-‘é_g dm
=3 e Je (helloy §,Lai delb

set serveroutput on

DECLARE
a VARCHAR2(5):

BEGIN

a:='hello";

DBMS OUTPUT.PUT LINE(a);
end;
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DECLARE
mn  EMPLOYEES.SALARY%type:
mx  EMPLOYEES.SALARY%type;

BEGIN

select max(SALARY), min(SALARY) into mx,mn
from EMPLOYEES ;

DBMS OUTPUT.PUT LINE (“ the maxis: | | mx);
DBMS_OUTPUT.PUT_LINE (“ the minis: “ | | mn);
end;
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select last name, salary, job id
from employees
where salary >=( select salary
from employees
where last name = 'Abel’ )
and job id = (select job id
from employees

where last name '‘Abel');
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Set serveroutput on

DECLARE

dept  EMPLOYEES.DEPARTMENT ID%type;
sal EMPLOYEES.SALARY%type;
newsal EMPLOYEES.SALARY%type;



BEGIN

select SALARY , DEPARTMENT ID into sal, dept
from EMPLOYEES

where EMPLOYEE_ID = 100;

if dept = 10 then

newsal := sal + sal*0.25;

elsif dept = 20 then

newsal := sal + sal*0.30;

elsif dept = 90 then

newsal := sal + sal*0.35;

else

newsal := sal + sal*0.40;

end if;

DBMS OUTPUT.PUT LINE(newsal);
end;



SET serveroutput on

DECLARE

dept  EMPLOYEES.DEPARTMENT ID%type;
sal EMPLOYEES.SALARY%type;
newsal EMPLOYEES.SALARY%type;
BEGIN

select SALARY , DEPARTMENT _ID into sal, dept
from EMPLOYEES

where EMPLOYEE_ID=100;

case dept

when 10 then
newsal:=sal+sal*0.25;

when 20 then
newsal:=sal+sal*0.30;

when 90 then
newsal:=sal+sal*0.35;

else

newsal:=sal+sal*0.40;

end case;

DBMS_ OUTPUT.PUT_LINE(newsal);
end;
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CREATE table area(radius NUMBER not null,area NUMBER(14,2) not null);
DECLARE

Di CONSTANT number (9,7):=3.1415926;
radius int;

area  number (14,2);

BEGIN

radius:=3;

while radius<=7 loop

exit when radius=5;
area:=pi*power(radius,2);

INSERT into area values(radius,area);
radius:=radius+1;

end loop;

end;



DECLARE

Di CONSTANT number (9,7):=3.1415926;
radius int;

area number (14,2);

BEGIN

for radius in reverse 1..7 loop

area :=pi*power(radius,2);

insert into area values(radius,area);

end loop;

end;
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DECLARE

C number :=10;
emp count number;
BEGIN

loop

exit whenc> 100 ;

SELECT count(*) into emp_ count

from employees

where department id =c;
dpms_output.put_line('department '| [c| |'count:'| |emp_count);
c:=c+10;

end loop;

end;



